B5 B14
[m?;'1] i [EW] [Inm] fs [E\}\?] [K'ﬁﬁ] L%\ B ¢ D E F|]O P Q@ R T U|py N@
63 71 80 90 199)s6 63 71 80 90 199 Kon nepen.
402C ns= 1400 min™
252 | 555 | 3 109 | 1.1 | 33 | 120 2425 | B c c 9 | 2815
191 | 7.33 | 3 | 144 10 31 | 150 24/25 | B c c 9 | 2812
156 | 8.96 =3 | 176 09 2.7 | 160 24125 | B c c 96 | 2810
139 | 10.04 22 145 1.0 2.3 | 150 (24/25 | B c c 96 | 1915
120 11.64 22 168 1.0 21 | 160 24/25 | B c c 96 | 1715
106 1326 22 191 | 09 21 | 180 (24/25 | B c c 96 | 1912
91 1537 15 151 13 19 | 196 24/25 | B c c 9% | 1712 e
86 1620 15 159 1.1 16 | 170 2425 | B c c 96 | 1910
75 1878 15 184 09 14 | 170 24/25 | B c| c 96 | 1710
65 2154 1.1 155 13 | 14 | 196 24/25 | B c c 9% | 1312
63 2226 1.1 160 1.0 1.1 | 155 24/25 | B c| c 9 | 1015
53 | 26.31 075 129 13 099 @ 170 24/25 | B c c 9 | 130
476 2940 075 144 14 1.0 | 196 2425 | B c cC 9 | 1012
39.0 3591 075 176 1.0 | 072 170 24/25 | B c cC 9 | 1010
36.5 38.37 055 138 1.3 | 072 180 24/25 | B c c 9% | o2
29.9 | 46.87 055 169 1.0 | 055 170 24/25 | B c c 96 | 910
27.6 | 50.67 0.37 123 12 | 045 150 24/25 | B c c 9% | 712
226 61.89 037 150 1.1 | 042 170 24/25 | B c c 9 | 710
403C n,= 1400 min”'
36.5 |38.34 075 182 1.0 | 072 | 175 24/25 | B c| c 93 | 171715 ®
32.0 | 43.69 075 208 0.9 | 070 | 195 24/25 | B c| c 93 | 191712
27.6 | 50.64 037 119 1.6 | 061 | 195 24/25 | B c cC 93 | 171712 @
225 6222 037 146 1.3 049 | 195 2425 | B c c 93 | 1e1312
19.7 7095 0.37 167 12 | 043 | 195 24/25 | B c c 93 | 131712 ®
187 7477 037 176 1.0 | 037 | 175 24/25 | B c c 93 | 1e1310
16.2 | 86.66 0.37 203 09 | 032 175 24/25 | B c c 93 | 131710
145 96.85 025 154 13 | 032 195 24/25 | B c c 93 | 101712 ®
11.8 118.29 0.25 188 09 | 023 175 24/25 | B c c 93 | 101710
10.3 135.69 0.18 155 1.3 023 195 24/25 | B c| c 93 | 101312
84 (16574 0.18 189 | 0.9 | 017 | 175 24/25 | B ® | ® 93 | 101310

* B MoHTaxHo no3vuum P MoTOpHBbI dnaHel, B5 MoxeT He cooTBeTCTBOBaThL pa3mepam. [poBepbTe pa3mepbl U Mo BO3MOXHOCTM Ucnonb3yinTe cnaHey B14.
In the P mounting the B5 motor flange can exceed the foot maximum dimensions. Check on the dimensions and possibly use the flange B14.
Der Motoreingangsflansch in B5 kann grufer sein als die Getriebefbfle. In diesem Falle sollte ein B-14 Flansch genommen werden.
Lors d’'un montage en forme P la bride peut diipasser des pattes. Viirifier dans les tableaux des dimensions et utiliser si possible une bride B14.
En el montaje P la brida puede exceder de les dimensiones mbximas de las patas. Verificar en los esquemas dimensionales, asm como la posibilidad de usar la brida B14.

MonoxeHne oTBEPCTUIA MOTOPHOTO
cnaHua pegykropa
Motor flange/terminal box position

Bo3MoxHble MOTOpHbIE dhnanLb! MOHTVpYIOTCS C NPOCTaBKOW
B, C B C
[t Motor flange available Coupling by means of reduction bushing




PA3MEPbI / DIMENSIONS / ABMESSUNGEN / DIMENSIONS / DIMENSIONES

150
- 115 @80 N°4 - M8x16
— |
8 e | (——
P402C-N {} 2l =] 1IRE EG <| Macca (kr) c onaHuem 8.2 8.7
P403C-N 8 B 50° ©| Macca (kr) c nanamm 9.5 10
© u o
65° 8
\_’

MoTopHbIn cnaHey B14

BbixogHown cdnaHey / Output flange

Detail Y T k1 al @ b1 el cl f1 s1
P 120 80 100 10 3 9
i :/ | & ® 140 | o5 [ 115 | 10 | 3 | o
P402C-F X = |o L 160 | 110 [ 130 | 10 | 3 9
bl B — 1 | — 200 | 130 | 165 | 11 | 35 | 1
P403C-F |7 e @)=k
\ f S~ . Cranpapt [ o 2550
Detail Y 3 AN bIXoAHOM Banf 16x40 @ 19x40
I 47,L |.c1 @ Output shaft 3:?::;3 @20;0 024z50
@25 h6 Crannapy |
‘ 173.3 402C ‘ 195.5 403C
EE ET
:./ [ 30 2.5 6 E— 20| 25 s
R402CSP 1B |2 | — -1 |5 |2 I
R403CSP T O = N B
- < Te) 1 =
2 < = e
: [ S o : | )
M M5x13

6x16 '
156.5 156.5

Tun 402C (MoTopHble hnaHLbl)

Nenua | A | B| C|g6|S1]|Ki

71 B14 ] 180.5 133 | 105 183.5

A 80 B14 | 1815 140 | 120 184.5

B ‘ 90 B14 | 1825 | ., [ 150 | 140 1855
50 63B5 | 1825 150 | 140 185.5
3 | 40 : y 71B5 [ 1805 160 | 160 1835
Aﬁ’ﬁ = [ r w 80/90 B5| 182.5 100 | 200 | 10 |185.5

P402CSP = |o
e | Y Y i I | .
L (] 11 ©
No) o -— Tun 403C (MoTopHbIE dnaHLbl
P403CSP e E( O et C( )
o o

& 7 & Vool A [ B C[g6[st] ki

S T | HH ‘ HH 71 B14 | 202 133 | 105 205

ml B R 110 T ER R e

183.5

75 130 145 63 B5 | 204 150 | 140 207

71 B5 | 202 160 160 205

80/90 B5] 203 190 [ 200 | 10 | 206




AnroMmmHuM

B5 B14
e [EW] [""N]ng fo | P | Mo L%\ B C D E F * O P Q R T U V| g N@
63 71 80 90 00186 63 71 80 90 195 132 Kon nepen.
452A n;= 1400 min™
388 | 361 | 4 95| 16| 63 | 150 |28/3035 B 96 | 3018
331 | 423 4 111 15 61 | 170 28/30/35 B 96 | 3016
279 | 501 4 131 15| 61 200 28/30/35 B 96 014 @
231 | 607 4 159 1.6 63 | 250 28/30/35 B 96 | 3012
206 | 681 4 178 16 62 | 277 28/30/35 B 96 | 2018
176 | 7.96 4 209 14 58 300 28/30/35 B 96 | 2016
148 | 9.45 4 248 12 49 304 28/30/35 B 96 2014 @
122 1143 4 299 10 40 300 28/30/35 B 96 | 2012
99 1421 3 279 09 28 265 28/30/35 B 96 | 2010
84 1662 3 327 09 28 304 28/30/35 B 96 | 1314 @
70 2040 22 290 1.0 23 300 28/30/35 B 96 | 1312 @
56 2498 1.85 303 09 16 265 28/30/35 B 9 1310 @
476 2941 15 289 11| 16 304 28/30/35 B 96 | 814
39.3 3558 15 349 09 1.3 | 300 28/30/35 B 96 | 812
346 4050 11 292 10| 11 | 290 28/30/35 B 96 | 614
317 4422 11 319 08 092 265 28/30/35 B 96 | 810
28.6 | 49.00 0.75 241 12 093 300 28/30/35 B 96 | 612
23.0 | 60.90 0.75 299 0.9 0.66 265 28/30/35 B 9% 610

* B MoHTaxHo no3vuum P MoTOpHBbI dnaHel, B5 MoxeT He cooTBeTCTBOBaThL pa3mepam. [poBepbTe pa3mepbl U Mo BO3MOXHOCTM Ucnonb3yinTe cnaHey B14.
In the P mounting the B5 motor flange can exceed the foot maximum dimensions. Check on the dimensions and possibly use the flange B14.
Der Motoreingangsflansch in B5 kann grufer sein als die Getriebefbfle. In diesem Falle sollte ein B-14 Flansch genommen werden.
Lors d’'un montage en forme P la bride peut diipasser des pattes. Viirifier dans les tableaux des dimensions et utiliser si possible une bride B14.
En el montaje P la brida puede exceder de les dimensiones mbximas de las patas. Verificar en los esquemas dimensionales, asm como la posibilidad de usar la brida B14.

@ MonoxeHne oTBEPCTUIA MOTOPHOTO
(03 dnaHua peaykTopa
Motor flange/terminal box position

B.C B03MOXHbIE MOTOPHbIE (hriaHLibl B MOHTVpYIOTCS C NPOCTaBKOW
[t Motor flange available Coupling by means of reduction bushing




PA3MEPbI / DIMENSIONS / ABMESSUNGEN / DIMENSIONS / DIMENSIONES 452A

MoTopHbIt prnaHey B14
15.5 P ¢ N°4

5 5634,? J — N°5 - M10x18
g LA ¢ 7
P452A-N % =l JTRO) =

Z\SOOA
121.5

69.5

@30h6
o
i

M10x22 o 123
BbixogHon donaHey / Output flange
ald | b1 | el cl 1 s1
. K1 31 160 110 130 14 35 9 %
tha'lY iy T S 200 130 | 165 | 13 | 35 1%
J e 250 180 215 15.5 4 14%
|
N - * MNonoxeHue otBepcTuii / Holes position@
P452A-F 5| 5 == © E
@ BbixoaHow Ban | Craraapt | 7 30x60
Detail Y 254 f1 @ Output shaft [losanpocy|g 2860 o 35x60
57.5 c1
@30h6 (Cranpapr)
Macca (kr) c dnaHuem 8.7
Macca (kr) c nanamu 8.9
189.3
50
40 5 8
@ 4
R452A-N g —f— |
| b= ~
S o~
Q
M6x16
A
1105 | 76.5
60 177.2 . 4 ) Tun 452A (MOTOpHbIe doriaHLbl)
8 5..50 #%‘Lg_ Yorenin | A [Cmax] g6 K1
- oLy mo 80 B14| 195.7| 202 | 120 | 198.2
P452A {} N = S é H ﬁ 90 B14] 195.7| 212 | 140 [198.2
- L - O o0 © T 100 61a | 2067 222 | 160 |209.2
«® 8 O T 71 B5 | 195.7| 222 160 | 198.2
S B 0 0 80/90 B5] 197.7| 242 | 200 |200.2
M10x22 T I Imi | i N 100ss | 2037] 267 | 250 [206.2
Gl L1 | @l NT o R
L o S
BosmoxHble pasmepsbl nan / Available feet dimensions -
— = =5 Bbl HanageTe koabl B Tabnuuax
arke Koa With max.
reference| nanbl G H R L S |[H1| O |al motor flange | flange E> HAaNpPOTNB HYXHbIX PasSMEPoB
302/3 18 | 110 | 160 130 | 190 | 162 | 20 | 11 [15 10011285
30/35 20 | 130 | 180 | 1495 | 216 | 182 | 18 | 14
47-57 30 | 115 | 135 165 | 170 | 167 | 24 [135 80/90 B5 Checking the main c_ilm_enS|ons
023-233] H3 | 30 [130 | 135 | 135 [185 [2315[ 25 |14 gr? - Hd' R -g)1y0;1WI|| {'nd
06 L6 19 [ 125 | 160 106 | 205 | 177 | 8 | 14 e codes (S1-B1 - etc.)
of your need
2202/3 | E2 13 | 100 | 135 192 | 164 | 152 | 6 | 14 7185
523 || 30 | 110 [135+150 100 | 190 | 162 | 18 | 11 [15 001108
142 P4 35 | 142 | 130 145 | 160 | 194 | 8 | 14 80/90 B5 -Ham6onee NonynsipHbIE TUMbI
4100056 J3 [ 25 [100 [ 150 | 90 [180 [ 152 | & | 14 (250011285 Most popular types




AnioMmmHuUM

B5 B14
e [EW] [""N]m fo | P | Mo L(g‘ B C D E F * O P Q R T U V| g \@
63 71 80 90 05 56 63 71 80 90 199 132 Kon nepen.
502A n;= 1400 min™
388 | 361 |55 130 12| 63 | 150 |28/30/35 B 96 | 3018
331 | 423 55 152 14| 64 | 170 28/30/35 B 96 | 3016
279 | 501 55 180 11 | 61 | 200 28/30/35 B 96 014 @
231 | 607 55 219 11 63 | 250 28/30/35 B 96 | 3012
206 | 6.81 55 245 12 67 | 300 28/30/35 B 96 | 2018
176 | 7.96 55 287 12 | 63 | 330 28/30/35 B 96 | 2016
148 | 9.45 55 340 10 57 | 354 28/30/35 B 96 | 2014 @
122 1143 4 209 11 44 | 326 28/30/35 B 96 | 2012
99 1421 3 279 09 27 250 28/30/35 B 96 | 2010
84 1662 3 327 11 33 354 28/30/35 B 96 1314 @
70 2040 22 290 11 25 326 28/30/35 B 96 1312 @
57 2461 22 354 09 20 326 28/30/35 B 96 | 1112
56 2498 15 245 10 15 250 28/30/35 B 96 1310 @
476 2941 15 289 12 1.8 354 28/30/35 B 96 814
39.3 3558 1.5 349 09 14 | 326 28/30/35 B 96 | 812
346 4050 1.1 292 1.0 1.4 | 295 28/30/35 B 9% 614
317 4423 11 319 0.8 086 250 28/30/35 B 96 810
28.6 49.00 11 353 0.9 1.0 326 28/30/35 B 9% | 612
23.0  60.90 0.75 299 0.8 0.63 250 28/30/35 B 610
503A n:= 1400 min™*
352 [3979 | 11 278 13| 15 | 373 |28m30/35 | B clec 93 | 191316
296 4722 11 (330 11 12 | 354 28/30/35 | B cloc 93 | 191314
256 5473 11 382 0.9 1.0 | 354 28/30/35 | B c|c 93 | 17131a @
211 6622 075 315 1.0 078 326 28/30/35 | B cl|c 93 | 171312
18.3 | 76.69 | 0.75 365 1.0 073 & 354 28/30/35 | B cl|c 93 | 131314 @
16.7 | 83.59 | 0.55 292 1.2  0.67 @ 354 28/30/35 | B cl|c 93 | 1s0814
151 | 9278 | 0.55 324 1.0 055 326 28/30/35 | B cl|c 93 | 131312
134 10467 055 365 1.0 053 @ 354 28/30/35 | B cl|c 93 | 101314 @
119 11722 037 | 275 12 044 @ 326 28/30/35 | B clc 93 | 170812
111 126,65 0.37 297 1.1 041 @ 326 28/30/35 | B clc 93 | 101312
102 136.62 0.37 | 321 1.1 041 354 28/30/35 | B cl|c 93 | ouaa @
85 16529 025 262 1.2 031 | 326 28530/35 | B clec 93 | o112
7.8 180.40 025 286 1.2 031 | 354 2830/35 | B c|c 93 | 71314 @
6.4 21826 025 346 09 024 | 326 28530/35 | B cloc 93 | 71312
58 241.82 025 384 09 023 | 354 2830/35 | B c|c 93 | oost4 @
48 29257 018 334 1.0 0.8 326 28/30/35 | B cl|c 93 | s0812
44 31932 018 365 1.0 0.7 354 28/30/35 | B cl|c 93 | 70814
36 1386.33 0.18 441 07 013 326 28/30/35 | B cl|c 93 | 70812 @
29 48016 0.18 548 05 008 250 28/30/35 | B cl|ec 93 | 70810

* B MoHTaxHo no3vuum P MoTOpHBbI dnaHel, B5 MoxeT He cooTBeTCTBOBaThL pa3mepam. [poBepbTe pa3mepbl U Mo BO3MOXHOCTM Ucnonb3yinTe cnaHey B14.
In the P mounting the B5 motor flange can exceed the foot maximum dimensions. Check on the dimensions and possibly use the flange B14.
Der Motoreingangsflansch in B5 kann grufer sein als die Getriebefbfle. In diesem Falle sollte ein B-14 Flansch genommen werden.
Lors d’'un montage en forme P la bride peut diipasser des pattes. Viirifier dans les tableaux des dimensions et utiliser si possible une bride B14.
En el montaje P la brida puede exceder de les dimensiones mbximas de las patas. Verificar en los esquemas dimensionales, asm como la posibilidad de usar la brida B14.

MonoxeHne oTBEPCTUIA MOTOPHOTO

Bo3MoxHble MOTOpHbIE dhnanLb! MOHTVpYIOTCS C NPOCTaBKOW @
B' C' " Motor flange available B Coupling by means of reduction bushing C ﬁggﬁgﬁsg}{g&ﬁ;l box position




502A PA3MEPbI / DIMENSIONS / ABMESSUNGEN / DIMENSIONS / DIMENSIONES

502A | 503A

[ X 53 15 Macca (kr) ¢ onaHuem 11.7 11.9
' Macca (kr) c nanamn 119 121

107
155 MoTopHbI hnaHel, B14 @123 N°5 - M10x18 0 57
60 / \
= M12x20

503A

. 5 50| | F— < _/J ?<§ {
P502A-N . =>%LJ: | SO/T . = = §< i &rff—ﬁ} oﬂ
PSOSA-N ¢ oD —| SRl e
Q J—L
M10x22 65 210 3 24
119
Detail Y r K1 ‘ BbixogHown dnaHeu / Output flange

ald| b1| el| c1| f s1
160 110 130 14 35 9
200 130 165 13 35 11
250 180 215 15.5 4 14

\4

P502A-F -
P503A-F

JiE
i
o

_ A& @BbixogHown Ban| Crauaapt | @ 30x60
Detail Y 25| ™ AGﬁ @ Output shaft [Mosanpocy] @ 28x60 @ 35x60
57.5 L cl
@30h6 (Crannapr)
220.3 502A 228.5 503A
50 35
— 40| 5 8 — 30 2.5 6
- —« g R —x T
R502A_N g = 7=7 4&» 1 g E 7: l 1.
R503A-N 2 — < 2 o < 2
<+ N~ [} ~
[ N N - ~ [aV]
{ [ N [ [ °
M6x16 M6x16
Tun 502A (MoTOpHbIE dnaHLbl)
A Mol A | B [Cmax| g6 | k1
B | 178 80 B14] 226 207.3 | 120 2285
60 90 B14 | 226 217.3 | 140 |2285
5 | 50 - [ AN\ o0 s | 237 Jors 2273 | 160 [2432
8 ——] - . 71B5 | 226 227.3 | 160 [228.5
P502A — O o x = = 80/90 B5| 228 247.3 | 200 [2305
- — % o g = o 10085 | 234 272.3 | 250 |236.5
P503A - e =J () S = 132 B14] 255.5| 216 | 247 | 200 | 264
e § { T Tun 503A (MOTOPHbIE thraHLibl)
' m i H Moronsel A | B [Crmax| g6 ki1
M10x22 L]
- G| %] I o R 71B14] 2345 209.5 | 105 | 237
L o S 80 B14| 235.5 217 | 120 | 238
90 B14/| 2365 6 227 | 140 | 239
63 B5 | 236.5 227 | 140 | 239
71B5 | 2345 237 160 | 237
Bo3moxHble pa3mepsbl nan / Available feet dimensions 80/90 B5| 236.5 257 | 200 | 239
Market S2 win | BSmax. .
|reference] nanei G H R L S |H1| O @l mozorﬂanlge flange Bbl HaiiaeTe Kokl B Tabnuuax
18 [ 110 | 160 | 130 | 190 [211.5{ 20 | 11 [10400/11285 HaNpOTMB HYXHbIX pa3Mepos
20 130 | 180 | 1495 | 216 [231.5| 18 | 14
30 [ 115 | 135 | 165 | 170 [216.5| 24 |135(5 10011285
023-233] H3 | 30 [130 | 135 | 135 | 185 |2315| 25 | 14 Checking the main dimensions
06 L6 | 19 [125 | 160 | 106 | 205 [2265| 8 | 14 (G-H-R-L) you will find
2023 | E2 | 13 [100 | 135 | 192 [ 164 [2015] 6 | 14 50/90 B5 tr}e codes (S1-B1 - etc.)
52/3 .IE 30 | 110 [135-150 100 | 190 [211.5| 18 | 11 [10 40011285 of your need
142 P4 | 35 |142 | 130 145 | 160 |2435| 8 | 14 - Hanbonee nonynsipHblie TUnbI
4100-05G| J3 | 25 [100 | 150 | 90 | 180 [2015] 8 | 14 [20 0011128 Most popular types




AnroMmnHuuM

B5 B14
e [EW] [""N]m fo | P | Mo L(g‘ B C D E F|O P Q@ R T U V| g N@
63 71 80 90 19956 63 71 80 90 199 132 Kon nepen.
602A ny= 1400 min"'
388 | 3.61 | 7.5 177 0.9 7.0 | 165 |30/35/40 B 96 | 3018
331 | 423 7.5 208 1.0 7.2 | 200 30/35/40 B 96 | 3016
279 | 501 7.5 246 10 7.3 | 240 30/35/40 B 9% 014 @
231 | 607 7.5 298 0.9 68 270 30/35/40 B 96 | 3012
206 681 55 245 14 7.6 | 340 30/35/40 B 96 | 2018
176 | 7.96 55 287 13| 74 | 370 30/35/40 B 96 | 2016
148 | 945 55 340 12 | 65 | 400 30/35/40 B 96 | 201 @
122 1143 55 412 10 53 | 400 30/35/40 B 96 | 2012
99 1421 4 372 14 | 43 | 400 30/35/40 B 96 | 2010
84 1662 4 435 12 46 | 501 30/35/40 B 9% | 1314 @
70 2010 4 527 09 38 | 499 30/35/40 B 9% 112 e
57 2461 3 483 1.0 31 | 492 30/35/40 B 96 | 1312 @
56 2498 3 491 0.8 24 | 400 30/35/40 B 96 | 1310
476 2041 22 424 10 23 | 440 30/35/40 B 96 | 814
39.3 | 35.58 1.85 431 12 21 | 499 30/35/40 B 96 | 812
34.6 4050 11 292 11 12 | 310 30/35/40 B 96 | 614
317 4423 15 434 09 1.4 | 400 30/35/40 B 96 | si0
28.6 49.00 11 353 1.0 11 | 363 30/35/40 B 96 | 612
230 6090 1.1 439 09 1.0 | 400 30/35/40 B 96 | 610
603A ny= 1400 min"
352 [ 3979 15 379 1.1 | 1.7 | 434 |30/35/40 | B clc 93 | 191316
296 47.22 15 449 11 17 | 501 30/3540 | B c|c 93 | 191314
256 | 5473 15 521 10 1.4 | 501 30/35/40 | B cl|c 93 | 171314 @
245 5743 11 399 13 1.4 500 30/35/40 | B cl c 93 | 191312
211 6622 1.1 462 1.1 12 | 500 30/35/40 | B c|c 93 | 171312
197 | 71.01 11 496 09 097 435 30/35/40 | B clc 93 | 191310
183 76.60 141 535 09 1.0 | 501 30/3540 | B c|c 93 | 131314 @
170 8230 075 392 11 083 435 30/35/40 | B cl|c 93 | 171310
167 8359 075 398 11 083 441 30/35/40 | B c c 93 | 190814
151 9278 075 441 11 085 500 30/35/40 | B cl|c 93 | 131312
13.4 104.68 0.75 498 1.0 075 501 30/35/40 | B clc 93 | 101314 @
119 117.22 055 409 12 067 @ 500 30/35/40 | B cl|c 93 | 170812
111 126.65 055 442 11 062 500 30/35/40 | B clc 93 | 101312 @
103 |135.74 037 319 | 1.4 051 441 30/35/40 | B c|c 93 | 130814
9.6 14568 0.37 342 13 0.47 | 435 30/35/40 | B cl|c 93 | 170810
89 157.40 0.37 369 12 0.44 435 30/35/40 | B clc 93 | 101310
85 16529 0.37 388 1.3 0.48 500 30/3540 | B cl|c 93 | o312 @
7.6 18529 0.37 435 1.0 038 441 30/35/40 | B clc 93 | 100814
6.8 20543 0.37 482 0.9 0.33 435 30/3540 | B c|c 93 | 91310
62 22418 037 526 1.0 035 500 30/35/40 | B clc 93 | 100812
58 241.82 025 384 1.1 029 441 30/3540 | B c c 93 | oosa @
50 278.62 0.25 442 1.0 025 435 30/35/40 | B cl|c 93 | 100810
48 29257 025 464 11 | 027 @ 500 30/35/40 | B clc 93 | sz @
39 363.63 0.18 415 1.0 0.19 435 30/3540 | B c|c 93 | 90810

MonoxeHve oTBEPCTUIA B MOTOPHOM

Bo3MoxHble MOTOpHbIE dhnanLb! MOHTVpYIOTCS C NPOCTaBKOW @
B' C' " Motor flange available B Coupling by means of reduction bushing C ﬁggﬁ%ﬁsg}{g&ﬁ;l box position




602A PA3MEPbI / DIMENSIONS / ABMESSUNGEN / DIMENSIONS / DIMENSIONES

602A | 603A

| X 21.8 15.5 Macca (kr) ¢ ¢onaHuem 14.1 14.3
' ' Macca (kr) c nanaMu  14.5 14.7

603A

202 107
15.5 MotopHbIn donaHey B14 @123 N°5 - M10x18 67
70 ]
o 5 | 60 é' == >’:< M12x20
ﬁ—r— —— — <P<_ = D
P602A—N ] —= >ié:£ ’*(8) 50e <=< — E —Eag ${[
— | —3 = — Al T | N~
P603A-N 1 o — A = 1
y
M10x22 e 24
‘ 51 119
k1 ‘ o
Detail Y r ‘ BbixoaHown dnaHeuy / Output flange

al@| b1| el| ci 1 s1

|

160 110 130 14 35 9

—
N p— 200

PEO2A-F | b1 NN AR

P603A-F f—ﬁ @ = '

el

‘ - B . Cranpapt | & 35x70
Detail Y 25 » L f g O:I:(olngfTa?n Mo sanpocy| 2 30x60 @ 38x70
67.5 L ci P On request | @ 40x80

@35h6 (Craraapr)

ﬂll,%

237.3 602A 245.8 603A
50 35
— 40| 5 8 — 30/ 2.5 6
o) e oy o) e oy
R602A-N 2 —c 2 x| P
Q — —C— B . Q — —— B 4
R603A-N 2 s 1 0 ] T i 2 s 1 ] ol
r ~ -
— ) N N — J ) 2 o~
Q Q
M6x16 M6x16
Tun 602A (MOTOpHbIE dnaHLbl)
Moreeel A | B |Cmax | g6 | K1
A 80 B14 ] 243.8 2438 | 120 |246.3
B 90 B14 | 2438 2538 [ 140 [246.3
70 ‘ O aia | 2548 2638 | 160 | 261
132 B14] 273 |225.3| 283.8 | 200 | 282
10 5 1,60 — 71 B5 | 2438 263.8 | 160 |246.3
P602 A N — < 80/90 B5| 245.8 283.8 | 200 |248.3
<¢ = _ L TS g -~ s | 2518 308.8 | 250 |254.3
P603A.... 2 = o *
(go) 3 J Tun 603A (MOTOpHbIE hraHLibl)
S i 5 A A | B [Cmax] 6] K1
M10x22 G ol f o 71 B14| 253 230 | 105 [255.5
1 L 3 80 B14 | 254 2375 | 120 | 256.5
90B14) 255 |, | 2475 | 140 | 2575
63B5 | 255 7| 2475 | 140 [ 2575
. . . 253 257.5 | 160 | 255.5
BoamoxHble pazmepsbl nan / Available feet dimensions 7185
80/90 B5| 255 2775 | 200 |257.5
Market S2 win | BSmax.
|reference| nanei G H R L S |[H1/ 0@l motor flange | flange Bbl HanpeTe koAbl B Tabnuuax
20 | 130 | 180 | 1495 | 216 | 233 | 18 | 14 - HanpOTUB HYXXHbIX Pa3MepoB
30 | 115 | 135 165 170 | 218 | 24 |13.5 -
77 S7 35 | 140 | 170 205 204 | 243 | 8 | 14 -
024-243] H4 35 155 | 170 150 225 | 258 | 30 | 14 - 100 Checking the main dimensions
06 L6 19 | 125 | 160 106 205 | 228 | 8 | 14 - 112 B5 (G -H-R-L) you will find
23023 | E3 | 195 | 125 | 170 240 205 | 228 | 8 | 14 - the codes (S1 - B1 - etc.)
62/3 .IE. 35 | 120 [170-185| 110 230 | 223 | 20 | 14 - of your need.
162 P6 40 | 162 | 160 205 200 | 265 | 8 | 14 - - Haunbonee nonynsipHble TMbI
4110G J4 27 | 120 | 190 15 | 225 | 223 | 8 | 14 - Most popular types




B5 B14
iy [EW] [""N]ng fs [E\}\?] [“r\,llﬁ':] LCQ)J B C D E F|O P Q@ R T U V| g N@
63 71 80 90 1986 63 71 80 90 195 132 Kon nepen.
602C n.= 1400 min™
388 | 3.61 75 177/09| 7.0 165 |30/35/40 B 96 | 3018
331 423 (75 208 /10 7.2 200 |30/35/40 B 96 | 3016
279 | 5.01 75 246|110 7.3 240 |30/35/40 B 96 | 3014 °
231 6.07 7.5 298 09 6.8 270 30/35/40 B 96 | 3012
206 | 6.81 (55 245/14 76 340 30/35/40 B 96 | 2018
176 | 7.96 |55 287 13| 7.1 370 30/35/40 B 96 | 2016
148 | 945 55 340 1.2 6.5 400 30/35/40 B 96 | 2014 °
122 11143 55 41210 53 400 30/35/40 B 96 | 2012
99 1421 4 37212 47 435 30/35/40 B 96 | 2010
84 1 16.62 4 435/12| 46 501 |30/35/40 B 96 | 1314 °
70 12010 4 52709 3.8 499 30/35/40 B 96 | 1312 °
56 2498 3 49109 27 435 30/35/40 B 96 | 1310 °
476 2941 22 424 10 23 440 30/35/40 B 96 | 0814
39.3 35.58 |1.85 431 1.2 2.1 499 30/35/40 B 96 | 0812
34.6 | 40.50 | 1.1 /292 1.1 1.2 310 |30/35/40 B 96 | 0614
31.7 4423 | 15 /434 10 15 435 |30/35/40 B 96 | 0810
28.6 | 49.00 1.1 353 1.0 1.1 368 30/35/40 B 96 | 0612
23.0 1 60.90 | 1.1 /439 1.0 1.1 435 |30/35/40 B 96 | 0610
603C n;= 1400 min™'
352 1 39.79 | 1.5 379 11 1.7 434 |30/35/40 B C C 93 | 191318
296 | 47.22 | 1.5 449 11 1.7 501 |30/35/40 B C C 93 | 191316
256 54.73 | 15 52110 14 501 |30/35/40 B C C 93 | 191314 ©
245 5713 | 1.1 /399 13 | 1.4 500 |30/35/40 B C (63 93 | 171314
211 166.22 | 1.1 462 11 1.2 500 |30/35/40 B C C 93 | 191312
19.7 | 71.01 1.1 496 | 0.9 | 0.97 | 435 |30/35/40 B C (¢} 93 | 171312
18.3 | 76.69 1.1 535 0.9 1.0 501 |30/35/40 B C C 93 | 191310 @
17.0 | 82.30 0.75/ 392 | 1.1 | 0.83 | 435 |30/35/40 B C C 93 | 131314
16.7 | 83.59 0.75 398 | 1.1 | 0.83 | 441 |30/35/40 B C C 93 | 171310
15.1 | 92.78 0.75 441 | 1.1 | 0.85 | 500 |30/35/40 B C C 93 | 190814 ©
13.4 [104.68 0.75 498 | 1.0 | 0.75 | 501 |30/35/40 B Cc C 93 | 131312
119 [117.22 0.55 409 | 1.2 | 0.67 | 500 |30/35/40 B C C 93 | 101314
11.1 [126.65 0.55 442 | 1.1 | 0.62 | 500 |30/35/40 B C C 93 | 170812 ®
10.3 135.74/0.37 319 | 14  0.51 | 441 |30/35/40 B C C 93 | 101312
9.6 |145.68 0.37 342 1.3 | 0.47 | 435 |30/35/40 B C C 93 | 130814
8.9 |157.40 0.37 369 1.2 | 0.44 | 435 30/35/40 B C C 93 | 170810 ©
8.5 [164.23 0.37 385 1.3 | 0.48 | 500 30/35/40 B C C 93 | 101310
7.6 |185.29/0.37 435 1.0 | 0.38 | 441 30/35/40 B C (0] 93 | 130812
6.9 204.16 0.37 479 0.9  0.34 = 435 |30/35/40 B C C 93 | 100814
6.2 22418 0.37 526 1.0 @ 0.35 | 500 |30/35/40 B C C 93 | 130810
5.0 |278.62/ 0.25/ 442 1.0 | 0.25 | 435 30/35/40 B C C 93 | 100812
B C BoamoxHble draHLbl B MoHT1pyeTCsi ¢ npocTaBkon - ) @ © g%gzﬁz”;een;ggggmm MOTOPHIO
[t Motor flange available Coupling by means of reduction bushing Motor flange/terminal box position




PA3MEPbI / DIMENSIONS / ABMESSUNGEN / DIMENSIONS / DIMENSIONES

190 8
. 155 T gi23 | N°4-M10x18 oS Type 603C
— |
10 0 = | /, L\ Input shaft
Pe02C-N A 5 1= | ] e .
n = 3
P603C-N S Sk (_> o * 8
q ~—

©
@ 12
/ 65° 210
M10x22
MoTopHbiii conanel, B14 B

602C | 603C |

Macca (kr) c onaHuem 21.4 21.2
Macca (kr) c nanamu  21.3  21.1

BbixogHow ¢hnaHey / Output flange
al | b1 el| c1 f1 s1

S 160 110 130 14 3.5 9
200 130 165 13 35 11

© -— 250 180 215 15.5 4 14
e P

v - CraHgapt | @ 35x70

Detall Y — @ BbixogHow Ban
etai 25]) Py Output shaft Mo sanpocy | @ 30x60 @ 38x70
67.5| | c1 On request | @ 40x80

D35 (Crannapn)

T

P602C-F
P603C-F

237 602C 245.5 603C
50 35
— N ]
40| 5 30/ 2.5
= [ 8 = l - 6
R602CSP = |2 —— = |2 —f
R603CSP O E = R
LI’ N ~ = i
T T S o . I Q ~
. M6x16 M6x16
200 200
Tun 602A (MOTOpHbIe draHLbl)
Mool A | B| C | g6|S1|K1
80 B14| 2438 162 | 120 246
90 B14 | 243.8 172 | 140 246
A 190 61a | 2548 2955|182 | 160 260.7
B 132 B14| 273 “| 215 | 200 282
70 ‘ 71 B5 | 2438 182 | 160 246
5 | 60 — 3(1)(/)?0 B5| 245.8 202 | 200 248
10 | W 11285 | 2518 227 | 250 | 23 | 254
 — |
P602CSP = |2 r
P603CSP { - T g < Ny T 8 Tun 603A (MOTOpHble dbnaHLibl)
o ~
o B © © Motor T-A T BT c[ g6[s1] k1
™ [} — Flange
T ) 71B14 | 2525 156 | 105 275.5
. 0 .8 \ aE 80 B14 | 2535 162 | 120 2765
M10x22 | 130 213.5 b7 N 135 90 B14 | 2545| . | 172 | 140 2775
100 165 190 63 B5 | 254.5 172 | 140 2775
71B5 | 2525 182 | 160 275.5
80/90 B5| 254.5 202 | 200 277.5






